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Probability of Independent and Dependent Events

gf;;:/r.i‘il.%Mg\ﬂ‘&gl&bc(B)QEJG)jO;‘.g\?jO;JSQc(R)E‘,oé.gL?jg:;bS?:db;%S‘_;}bq

=

Ss¥1 i L Lo & 50 Jlaz¥)
X

&
3
|w

R (R, R) 5 5 25

:8
w

o>yl
/N
= =
AWA
® = =

’YLQ.:;-‘}H,

2
(&)

I sy

b1 e I e 98 S G

£ sl DLV 5 )l oS! @)

Ol o] 0 S 0 555 O Szt ST @)
el O M1 Gy

o YT e B3 0,85 1 Sl 3T @)
gj.lj\;\ﬁ}‘\:aM\g\ﬂ\

a3l e Ol et 06 S 8,5 YT Dl 11 @)

ST S 45 (R) ) 365 b S5 oGS 55w

Ly e b e 2Bt o e B ks (1) ool S0 25,

5 : s
R . 1< ﬁ; & .Gfﬂ A @ 1< 69 & g
9< < v 'LGJSUL.?‘J""“;LSJ’“‘?’JL"V"L@lS‘Jlf.“J"""‘;LSJ'l"‘?’g"tSJ‘

R

R

8
Y<
Y

“ - /:
£l DLV 5 )l LS| @)

?&\ﬂ\%g&&&iﬁ&kjwﬁowwm (6 )

§j.g\3J¢\J§J|;@@Jﬂf&mcgw\gp\gtw\;@gdﬁﬁjﬂbj@\éj&&jwnﬁ &

¢ Il

36 (P(A) = 0.5, P(B) = 0.7, P(AU B) = 0.8 /s 13|

O PANB) O P(B|4)

Q@ P(A|B)

-~ °oe & £ u - PR o °o.% (& . /../:
0550 01l o sl 1 Lo 01 sl 0L M a5 e nlone o575 Byt i s 5 Sl @)
Y1 e 515550 5 25 1 76 13] 8 F el




aleija Glygi




aleija Glygi




aleija Glygi




aleija Glygi




aleija Glygi




